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memiEg, U= xix T 1s =20
U= 1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19, 20
(3 = ., «efies
2wl froTery I1et AR 2 3 efdes, @reg A U
A= 2,4,6,810,12,14,16,18,20

R = :, «Fefics)
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Example-10: &g 45 NTFT 4T 50 T e, 20 & TLAE 3R 10 & I 8 e oo Al | 1216 oy wws

OB S FOE IS ANK? [t (2) of. 7S]
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= FUATF QFT6 (AT AT 9N Q@ 7220 = n(F U C) = n(F) + n(C) —n(FN C) = 60 + 50 — 30 = 80
- 936 (eI A1 F G BI@ 72T = (100 — 80) & = 20 &

. J

Example-11: 515t Rfwgiea sy ofar 395080 100 o frwifia ey 42 o @, 30 o v, 28 o =iifat
TR 10 & @ @ 8 =i, 8 o« g a8 =hifa, 5 & e wiiw 8 %, 3 oW o oFig
[SicieY
(5) Foee frmid @ foalb ofEim gafbe @af? [T () 7. T-3v]
(R) o il @ foa orT @3 @G s Fee?

(o) Toum Fred @ foaf> o = 13 ot fwee?
ST 47, 7 Fredia Gio U, (e (ea Rrmdia <16 F, sl erea frmidia o6 G, ~mifet (rea frmidia ¢16 S |
~n(U) = 100,n(F) = 42,n(G) = 30,n(S) = 28,n(FNS) = 10,n(GNS) =8,n(FNG) =5n(FNGNS) = 3
(3) wree «3f6 o earg @ Frwd e, n(FU G U S)
- @ orare afe @ e 4w, n(U) —n(FUGU'S)
S &, n(FUGUS) = n(F) +n(G) +n(S) —n(FNS) —n(FNG) —n(GNS)+n(FNGUS)
=42+30+428-10—-5—-8+3 =103 —23 =80
- @30 Srare A @I Frmdar 7AW = n(U) —n(FNGN'S) = 100 — 80 = 20 (Ans.)
(}) confoa zrs,
By (F0 O g U
=n(F)—n(FNG) —n(FNS)+n(FNGNS)

=42-5-10+3=45-15=309 w

wy G o e
=n(G) —n(FNG)—n(GNS)+n(FNGNS)
=30-5-84+3=33-13 =205
By =i ol T
=n(S) —n(FNS) —n(GNS)+n(FNGNS)=28—-10—-8+3=31—18= 13T
- foaft ©ra= Wy vy @ o fNeate= (30+20+13) & = 63 & 1 (Ans.)

(9) By @Fw e~ R =n(FNS) —n(FNGNS) =10—-3 = 7T

U

L > FNS\FNGNS)

mamwﬁ?m@wﬁ*m@m o AR LS W% ALGL....



